0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVII %XGDIRNL ~i

7HIHVEIP pQ\HV] i PRIiV

ZHIHVEIPPO\
+RUGYVQp - RFJND ODUDQQD
+RUGYVQp - RFJND ODUDQQD HY +yQDS 6Dl &VRSRUI EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
-RWXIK / X s
+8 6=h&s, 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1$(
YplpY 1$( @WIHVHQ
RV JiU DNI pUt
—XIDIpNHV] i PROIV
6101
+v0ODS
+8) (85
I
GIHPPNHV pUpNHIpY 15 6Dl IXIDIpN
13 6D 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
%C 6Dl ([IUD -XIDIpN
%( &VRSRUI BBBBBBBBBRBBBBE BBBBBBBBERE BBBBBBBBBR
_UTHIpY
6liIXV]
+DYL IHIHVIIP O\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDipN
7T7+1e 7(.6( E*1(6 3 xmz o *5%: (
*<85% /E6=/T 3 *$: )* *5% = (
*<85% /E6=/T 3 *$: )* *5% 1 (
6276 7,%25 3 r$: ox *5% = (
&6(5-6, $1(77 3 *$: )* *5 = (
Yn/g30(/,1°$ -2/E1 3 *$: )* *5% = (
6E6", =620%25 $1"5E6 3 *$: )* *5% 1 (
%2"T 7$OE6 3 *$: )* *5% = (
(5. (6 7$OE6 3 *$: )* *5% 1 (
&=1.T&=1e O,./T6 $1(77$ 3 *$: )* *5% = (
&=1.T8&=, $77./% 3 *$: )* *5% 1 (
"9256=.,1e " (E. e9% 3 *$- )* *5% = (
*20UE/< 125%(57 3 *$: )* *5% 1 (
&]IPHI 7DPiV 3 *$: )* *5% = (
&]LPHIQpP 9DV %RIRVL &I 3 *$: )* *5%z (
-RYIFV ZiV]ly 3 *$: )* *5% = (
YRIJDRP ,,  +8)
$IHQV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
%RIQIU VIVQ
Y 0]S -XGli 3 r$z * *5% = (
%2*1E5 679E1 3 *$: )* *5% = (
%2*1E5 *5e7$ $C *$z )* *5% = (
(UGp\L 7DP iV $C *$z )* *5% - (

&]JDEXID -iQRV

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

+RUGYVQp - RFJND ODUDQQD



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~Ii

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN
ORIQiU *DEUHID $C  *B: )* *5% 2 (
* JUJH\ . DIDIQ
6,.+(*<, %($75,; OE5,$ 3 *$: ot *5% 2 (

+RUGYV -y]VHI

&6(5-e6, *e=$ 3 *$z % *5% - (
7(-6(/E6=/T1le 3 *=zo- *5$ = (
%2*1E5 ,679E11le 3 *$- * *5% = (
%2*1E5 ,679E11le .25 *$- * *5$ = (
0$<(5 27771 -E126 3 *$- * *5% = (
%=, %e/$-1=6Q1le 3 *$- * *5$ = (
*20%E/< 125%(57 $C *T: o> *5% = (
-RYiFV ZiV]ly $C  *Tz * *5$ = (
+RUYiIKQp $V]ID
6(5(6 7,%25 3 *$:- )* *5$ = (
257T1le %$/E=6 OT1,.$ 3 *$- )* *5% = (
-DNy 3ilQp $(C *$:z * *5%:(
-yPil -iQRVQp
)$5.$6 3e7(5 3 wwoov *5$ = (
.UDV]QDIQp 7yiK
-5$6=1%, +$-"8 =68=6$11$ 3 *$:- )* *5$ = (
3XUNIV VIViEQ -
386.E6,679E1 3 *$z % *5$ = (
386.E6,679E11e 3 *$- ¢ *5% = (
6=(&6.2 7$0E6 3 * o ox *5$ = (
386.E6,679E1 3 *$- * *5% - (
386.E6,679E1 3 *$- * *5$ = (
9HUPEQP 6]RIGDI
3e. (5,-% 3 *$- * *5$ = (
gVVIHVEIHI pUipN

JRUIDRP, (85

$IQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DWID  7DUDP %IV HiLV ~XIDIpN

DRUWDRP ,, (85

$QV] - IGIS 6]HU]EGE (I\VpJ  7ISXV  7DWD  7DUIDP  %LJW W ~XIDOpN

QVVIHVEIHIN pUipN

9%URNHU BHUYLFH 6\VIHP
7HIHVEIPpQ\HIV] i PRIV +RUGYVQp - RFJND ODUDQQD

%66



